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1. 

 
 

Continued on next page 
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For this item, a full-credit response (1 point) includes: 

  
 

For this item, a no-credit response (0 points) includes none of the features of a 

full-credit response. 
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2. 

 
 

For this item, a full-credit response (1 point) includes 

        , and equivalent responses. 

 

For this item, a no-credit response (0 points) includes none of the features of a 

full-credit response. 
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3. 

 
 

For this item, a full-credit response (1 point) includes 

           (    )          (    )                  , and 

equivalent responses. 

For this item, a no-credit response (0 points) includes none of the features of a 

full-credit response. 
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4. 

 
 

Continued on next page 
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For this item, a full-credit response includes (1 point) includes 

 the graph of a piecewise linear function that approximates the data points 
on the graph. (Note: There is a range of acceptable answers, near f = 2m + 
90 for 1 ≤ m ≤ 20; f = 15m – 170 for 20 ≤ m ≤ 40.) 

 

For example: 

 

 

For this item, a no-credit response (0 points) includes none of the features of a 

full-credit response. 
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5. 

 

 

For this item, a full-credit response (1 point) includes  

 writing an equation with a slope ranging between 1 and 3, AND a y-

intercept ranging between 80 and 100 

OR 

 writing an equation that matches the (correct or incorrect) line graphed as 

the first piece of item number 1435. 

For example, 

             

For this item, a no-credit response (0 points) includes none of the features of a 

full-credit response. 

For example, 

                    
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6. 

 

 

For this item, a full-credit response (1 point) includes  

 writing an equation with a slope ranging between 13 and 18, AND a y-

intercept ranging between –260 and –120. 

OR 

 writing an equation that matches the (correct or incorrect) line graphed as 

the second piece of item number 1435. 

For example, 

               

 

For this item, a no-credit response (0 points) includes both 

 all other responses. 

For example, 

              
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7. 

 

For this item, a full-credit response (2 points) includes  

 agreeing with the claim 
AND  

 justifying the response by citing at least one comparison between values 
used in the two systems. 

For example, 

 “I agree. In the current system, a driver who is ticketed for speeding by 11 
mph could be fined $300. A driver who is ticketed for speeding by 30 mph 
could be fined $90. In the new system, any driver who speeds by 11 mph 
would pay $112 and a driver who speeds by 30 mph would pay $280. It is 
fairer that drivers who speed by the same amount will pay the same fine 
and the fine will increase as the excess speed increases.” 

 

Continued on next page 

  



G r a d e  1 1   P a g e  | 11 

 

For this item, a partial-credit response (1 point) includes: 

 agreeing with the claim 
AND  

 justifying the response WITHOUT citing any examples 
 

OR 
 

 justifying the incorrect response by citing examples from previous incorrect 
work in any of the previous items. 
 

For example, 

 “I agree. It is fairer that drivers who are ticketed for the same excess speed 
will pay the same fine and the fine will increase as the excess speed 
increases.” 
 

For this item, a no-credit response (0 points) includes none of the features of a 

partial- or full-credit response. 

For example, 

 “I agree.” 

 

This item is not graded on spelling or grammar. 

 


